1
LhpNIESEIN)-15

el | gt 1. SRR OETH -
ZE{EH- 2. RE[BS  2BES -

3. KA EFEREENRETHEERA -
4. EEBERET - BB > REIEITRREHILEHRRELE -

N LZRALZE M) EISE -

A

5. ERIIEHEMHELET - TMINIXESS -

{EEIER EAER RIS
5T @25 32 40 @50 763
78 20 20 25 30 35
EFAAeE TR

)59 1.2MPa(12kgf/cm?)

SN 0.15~0.97MPa(1.5~9.9kgf/cm?)
fERRE 50~300mm/sec

FRREE -10°C~+70°C ( REFEKAREE )

iBE i1

fasH F5EEMISO VG332 AEE 2 M

TD-A93 TD-M9P

@25~@501% F

TA-11IN

TA-11P

TA-22
232~0631

b @25 X 20

R| [MiEFE @32 X 20
@40 X 25

@50 X 30

@63 X 35

TD-A93V
TD-MONV
TD-M9PV

WA AIRAE B £ R8141.01
+[8143.01 ~[8143.03-



RELH/ AR (RRE)

JIG CYLINDER (clamp type)

JGK # 3l

4-M
o HEENF o RKEWR

@25 | 78 | 51 [ 125 ]90.5| 25 | 50 45 | 40 | 28 | -— - | 111 |M5X0.8| 8 |M5X0.8 | 78°

032 86 | 55 | 16 | 102 | 30.5| 60 | 53 | 45 | 34 | 49.5| 14 | 128 |M5X0.8| 9 |PT1/8” | 69°
@40 945 | 61 | 16 |110.5| 32 | 65 | 58 | 52 | 40 | 57 | 15 | 137 |M6X1.0| 10 |PT1/8” | 70°
@50 /1075 68 | 19 |126.5| 34 | 75 65 | 62 | 48 | 71 | 18 | 1564 |M6X1.0| 10 |PT1/4" | 72° | 1
@63 | 121 | 77 | 22 | 143 | 385 |85 | 76 | 75 | 60 | 84.5 | 18 | 173 |M6X1.0| 12 |PT1/4” | 66° |11.5

[RENENoN 1

o




